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-
SECTIONA
Answer ALL questions. Write your answers in the spaces provided.
1 Chenis a weather presenter on TV.
The map shows the temperatures in five cities at noon on Monday.
The temperatures are all shown in degrees Celsius.
Chen says
“The range of these temperatures at noon on Monday is
8 degrees Celsius.”
-
(@) Is Chen correct?
Show why you think this.
(2)
\_
-
(b) Use a reverse calculation to show a check for your answer.
(1)
-
(Total for Question 1 is 3 marks)
.
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( )
2 Paulo invests £2000 for 7 years.
His investment earns 5% simple interest per year.
. . . \
Work out the total amount of interest the investment earns in the 7 years.
(3)
J
(Total for Question 2 is 3 marks)
J
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The probability of an event happening is %

-
(@) Which of these words best describes the likelihood of this event happening?

Tick (¢) a box to show your answer.

impossible  unlikely evens likely  certain

[ ] [ ] I N [ ]

N\

(1)

Here are 4 numbers.

714 720 726 724

-
(b) Calculate the mean of the 4 numbers.

(3)

(Total for Question 3 is 4 marks)
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4 Harry sells bags of pasta.

A bag holds 3 kilograms of pasta.

Harry decides to sell pasta in boxes.
A box holds 20% more pasta than a bag.

A customer buys 10 boxes of pasta.

-
How many kilograms of pasta does the customer buy?

You must show your working.

(4)

(Total for Question 4 is 4 marks)

TOTAL FOR SECTION A IS 14 MARKS
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